PROGRAMMING IN HASKELL
A% 5324 Haskell

Chapter 11 - The Countdown Problem
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BETFERTT—4E Op:
data Op = Add | Sub | Mul | Div
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System:
Compiler:
Example:
One solution:

All solutions:

1.2GHz Pentium M laptop
GHC version 6.4.1

solutions [1,3,7,10,25,50] 765
0.36 seconds

43.98 seconds
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This behaviour is achieved by defining

where
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Example:

One solution:

All solutions:

solutions' [1,3,7,10,25,50] 765

0.04 seconds

Around 10 A

times faster in

both cases. Y

3.47 seconds
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Solutions:
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solutions'' [1,3,7,10,25,50] 765
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One solution: 0.02 seconds

All solutions: 0.44 seconds
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